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times
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i while [Z&5#EYRL (5ID)

i=1

while i <= 5 do
puts( i.to_s + "EIBTY,." )
i+=1

end

i while [Zk5#2Y)

JEL,(WJ@ )

i=1
while i <= 5 do

i+=1

puts( i.to_s + "EETY." )
end /

N

D DHE i=1 /

@ FHHIE -> true
@ puts [2&BHA

@ TI1Z1FEmME(i=2)
® E#HHE -> trut/
® putsickBH A

SEIEICICIS)

i 121 ME (i=3)
SEHHITE -> true
putsiZkdHH A
i I21%NE (i=4)
ZHHIE -> true
putsiZ&kAHH A

i=1

while i <= 5 do
puts( i.to_s + "EIHTY." )
i+=1

end

SEETY
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22 == -
SEHHIE >true/

® putsizkBH A

i 1Z1% 0% (i=5)
@ EHHIE -> false
®T

i RIDAR—DERILTAT 5L (6IQ)

puts DEEH

i=1

while i <=5 do
puts i.to_s + "EIHTCY, ”
i+=1

end

i=1

while i <=5 do
puts “#{ilEETY,
i+=1

end

i INETREAEFETECLD

5.times{ |i|

puts( (i+1)tos + “AIBTY, ")

}

(1..5).each{ |il
puts(itos+ “BIETY, ")

i INETREAEFETELD

i=1

loop {
puts(itos + “METY, ")
break if i == 5
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i while [Z&5#EYRL (1)

(LD &S AR EICHEZTLED

i=10 i=10

whilei!=0do whilei > 0 do
puts( i) puts( i)
i-= i-=1

end end
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i while [2Xk5#YiRL (@)

|EDESLHABRISHDTLEND

i=0 i=0

while i < 10 do while i <=10 do
puts(i*2) puts(i*2)
i+=1 i+=1

end end

i while [2X5#YiRL (fI®)

Q&L ARBRITHETLESD

i =1000 i=2

whilei > 0 do while i < 100000 do
puts(i) puts( i)
i=i/2 i=i*2

end end
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i while [2X5#YiRL (41®)

i=1
while i <= 5 do

puts( i.to_s + "EIBTY." )
end

[EFSEBEESHZTLEND ? |

i while [2&5#YiRL (41®)

i=1
while i <= 5 do

puts( i.to_s + "EIBTY." )
end
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i times(each) & while MELN
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l: times & while DELD
“%E'ELJE@LEI%Q%“%‘TCL\%:%@

n =10 i=0«
n.times{ |i| while i<10 do
puts( i) <:> puts( i)
} i=i+1
end

HEEHE B S TRELETNE
BBHL

#l: times & while DEL\Q

"BYELER Do TNBHE |

FITEZE 5
n =10 =0«
total = 0 total = 0
n.times{ |i| <:> while i<10 do
total +=i total +£& i
} i=i+1
puts( total ) end
puts( total )
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i #l: times & while MELQ

i=2

while i < 100000 do
puts( i)
i=i*2

end

"ELEEE"D DO TSN EYRLEIRK" X 5%
times TIXEED5L

i #l: times & while MEWL@

= DEOLEES1BITT A

s=0.0 s=0.0
n =10 n=0
n. times{ |il while s<10.0 do
r = rand() r = rand()
o n o q|End0
2 =s/n end 0Ll EIRGEDEKREERK

puts ( "= #{a}") puts( “#{n} EETI0OZEA ")

"EIEEE" BFODHOTNS
["#EEH ATODITLS |5

"B HFHOHOTLS |

i BRLELBDES

» T MR REREEROTHES

§=0.0
s2= 0.0

n =10
n.times{ |i|

r = rand(Q
s +=7r
§2 4= r¥r

| puts( “#{r} I& #{i} BEHOAKTT.")

a =s/n

v = (s2 - axa®n)/(n-1)

sd = Math.sqrt( v )

puts ( "= #la}, Silk= #lvl, WMEE= #{sd]”)
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TRIEZEZZENTEDNEINEFTRAN.
FOREMNFIEHTOAYSLEEELS
Ly

34

i break X @

 BYRLUL—) D TER
= ZDbreakhFiE T 5IL—TE12ikITS

i breakX @

i=0

%
total = 0 false
while i < 10 do

total +=i total +=i

i+= 1 i=itl

break if total > 10
end

true

-
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i break3X®

true &40 TULVST=8, R

i breakXX@®

l:%ﬁéhlé
i=0 i=0 10.times{ |i| (10..100).each{ |i|
loop{ while true do puts( i) puts( i)
puts( i) puts( i) break if i > 5 break if i > 20
i=i+1 i=i+1 ) )
break if i > 10 break if i > 10
} end times, eachlZ& L THbreakTIL—TZiRITH S
SENTED
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i next@

i=0
while i < 10 do
i+=1
ifi ==5 then
next
end
puts( i)
end

[HAEESLBHTLES ] 7
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next®

i=0
while i < 10 do
i+=1
if i % 2 == 0 then
next
end
puts( i)

end
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‘0% 5 L5l (break,next) T
L

=T DRETHDwhilelZRSD

false
n=0
while n>=0 do
if n<=10 then true
false

¢

print(n, 7 ")
n+=1
next

else
print( "&EH n (X10FRAFELI, 7))
break

end

end
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= Ruby TlEMthIZ, until, for HELH DB,
» BN EREICIE
« Ruby O#25% |48 1% . while, until, for T$H%
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i downto, upto, and step

» BITRIES

‘7.downto(3) {|i] printCi,” “) ]‘

[3.upto(® [ li] print(i,” ") 1]
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i downto@®

n.downto(m){ [i|
=

}

n-mEIXZ YR (n>m)
ICIXBEEMIC A LM AT S
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10.downto(0){ x|
i printf( "x=%2d x"2=%3d¥n" , x , x**2)

by

C:¥ruby>ruby sample.rb

x=10 x~2=100
X [£10M 505 x= 9|x"2= 81
T1%HAHTEL x= 8|x"2= 64

x=7x"2=49
X= 6 x"2= 36

x=5x"2= 25
x=4x"2= 16
x=3x"2= 9
X=2x"2= 4
x=1x"2= 1
x=0x"2= 0
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0.downto(-10){ |x|
i printf( "x=%3d x*2=%6d¥n" , x , x**2)
¥

C:¥ruby>ruby sample.rb
x= 0x"2= 0
X [£0A5-10% X=-1x"2= -1
TIZHTEL X=-2x"2= -8
x= -3 Xx"2= -27
X= -4 x"2= -64

x=-5x"2= -125
X= -6 x"2= -216
-7 x"2= -343

-8 x"2= -512
=-9x"2= -729
-10|x”2= -1000

i downto®@

[while TEL15E ]

total = 0
10.downto(0){ |i| total = 0
total += i while[i >= 0ldo
break if total > 20 total +=i
} break if total > 20
end
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i downto®

[downto & while #FIFIL TEEFBELTHTTAL |

total = 1
1.upto(10){ |x|
total *= x
b
print( total )

i upto®

n.upto(m){ |i|
=

}

m-nEXZ#YiRY (n<m)
iIclzasmiznhomhi Kt Ashd

54




i upto®

i upto®

n.upto(m){ il (n..m).each { |i| 0.upto(10){ |x|
=t =t print( "x=", x, "¥n")
b } by
[ EA#IZIE each ERL ﬁ =
(0..10).each{ |x|
print( "x=", x, "¥n" )
by
total = 0 total = 0
0.upto(10){ |x| 10.upto(0){ |x|
i total += x total += x step®
b b n.step(m,r){ |i|
print( total ) print( total ) =
total = 0 total = 0 ; i=0 b
11.times{ [x| while i <=10 do nANEMETLIAEIErCRYET
total += x total += x i [ZIE N, n+r, n+2%r .. AAAD
) i+=1
. | b
print( total ) print( total )

i step®@

0.step(10,2){ |x|
print( x , "¥n")
b

1.step(10,2){ x|
print( x , "¥n")
by

i step®

C:¥ruby>ruby sample.rb
0

C:¥ruby>ruby sample.rb

10.step(0,-2){ |x|
print( x , "¥n")
}

9.step(1,-2){ [x|
print( x, "¥n")
¥

C:¥ruby>ruby sample.rb

C:¥ruby>ruby sample.rb




;‘ step@

whilez LMV =5&

total = 0
1.step(50,2){ |i]
total +=i

}

total = 0
while|x <= 50|do
total += x

—

end

print( total )
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;‘ step®

total = 0 total = 0
49.step(1,-2){ il
total +=i while[x >= 1|do
} total += x
print( total ) g
en

print( total )
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i for)L—7@

foriinn..m do
=
end

(n..m).each{ |i]
=
by

i for)L—7 2

for xin 1..10 do
puts( 2**x )
end

C:¥ruby>ruby sample.rb
2

i for)L—7@3

for x in -10..10 do
puts( 2**x )
end

total = 0

for xin 1..10 do
total += x

end

print( total )

i for)L—7@

[upto & while ZRIFL TEEBELTHTTEL

for x in 0..100 do

end

a = x/ 100.0 * Math::PI
printf( "%f %f¥n" , a, Math.sin(a ) )
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skipLEd:

i while [Z&5#EYRL (#t4<)

while #BEE#E do #REEHAS DM, LEERYEY
#RELOEHOHEL. — B

=1
=2
end —ATHRARAL
# F<BBFENH open( “HumptyDumpty. txt”) { | f |
B EIH DD DK n=t: ! = # S~ EE Ok HOE(
while ##%4 do while (l.ni o
TRREER print( In, "f7B:", 1) # E%
REIN DA In+=1; | = f.gets # RE~DERH
end

http://www.authorama.com/through-the-looking: Ias%gﬁ.html

skipLEd:
i FL<H AR

= ROFSBEHMIEAFATRELL DT RMNESNTIVS

open( “HumptyDumpty. txt” ) { |f| | open(“HumptyDumpty. txt”) { | f |
In=1: | = f.gets In=1 # E—EB D= DS
while ! (I. n||'7) do while | = f.gets do # EHHEER~NDER
print( In, “FB:", 1) prmt( In, “F7B:", 1) # FFLOEE
In+=1; | = f.gets In += # RE~DERH
end end
} }
open (“HumptyDumpty. txt”) { | f | 2ItTY,
In=0 Th, ESL
while ( In +=1; | = f.gets) do TH<DEA
print( In, "478:", |) SM7?
end
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i T74IL DD FRHAHAHD

FARAAT=WNTFAIVEZ R

open( "7 74L& { ||
e e = a5t | do
XFHIZEH line (2

end » J7AILHD—ITER
} #HAEND

.

T7AILDRERFETHARAE
hdEwhile XHHiRITHS

T7A4ILDLDFHRAIAH D)

open(”HymptyDumpty.txt”) { |f| ‘
T7AILDo—{TDD5F

while\line = f.gets

pikts( line ) <

end
] H:¥Ruby>ruby sample.rb
Humpty Dumpty sat on a wall.
" Humpty Dumpty had a great fall.

All the king's horses and all the king's men
HumptyDumpty.txt

Couldn't put Humpty together again.
Humpty Dumpty sat on a wall.
Humpty Dumpty had a great fall.
All the king's horses and all the king's men
Couldn't put Humpty together again.

g FHEOFTETAISL

# R¥IT. 2~ TAS-11 TREYPHhGNER
#2005 10XETORBEMNFLES

(2..10). each{ |n| # RMEHE
(2..n-1).each{ [x|] # ChTHRS
break if n%x = 0 # B YHPht- oRMTIIELN

1
: puts “#{n} IXJ™H"

Hn> \

—EN—T
13D LETRUET
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B RYENFSEHT0T5 L4

# REL, 2~ TESH-11 TEREYOhZVES
# 205 10ETORBEMFLES

(2..10). each{ In| # mEaE
p=1 # TR
2..n-1).each{ |x| # ChTHRRS

(p=0: break) if ntx = 0 # Y tIhi->R¥TIXAL

puts “#inl FFRF" if p=1 # RBEHOETILORH!
1
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